             Exercise-8.3
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Here,
Principal (P) = ¥ 26,400, Time (1) = 2 years 4 months, Rate of interest (R) = 15%

pa
Amountfor 2 years ()= P {148 |
100,

Interest for 4 months = %:%ymiﬂhﬂﬂnlls%

=iy OMISKL o ypism0
B 100

- Total amount =234914+21,74570
=236,659.70
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Here,

Principal (P) = 2 12,500, Time (T) = 3 years, Rate of interest (R) = 12% p.a.

PxRXT _ 12500x12x3
100 100

Amount for Radha, P =2 12,500, R = 10% and n =3 years

Simple Interest for Fabina = =74500

Amount(A) =P (u%]'

- ::sou(nﬂ]
100

UM
1071010
=716,637.50
- Clfor Radha = A- P = 216,637.50 - 2 12,500 = 24,137.50

12500,

Here, Fabina pays more interest = 2 4,500 - 2 4,137.50 = ¥ 362.50
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Here,
Principal (P) = 212,000, Time (T) = 2 years, Rate of interest (R) = 6% p.a.
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simple Interest = PXRXT  12000x6x2
100 100

Had he borrowed this sum at 6% p.a. then

=21.440

RY
Compound Interest = p[nnﬁ] -

o
-nm[uﬁ] ~12000

=713,48320- 212,000
=2148320

Difference in both interests = ? 1,483.20 - 2 1,440.00 = 2 43.20
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Here, Principal (P) = Z 60,000,
Time () = 6 months = 1 half-year (compounded half yearly)
Rate of interest (R) = 12% = 6% (compounded half yearly)

Amount () = P (hi]'
00
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6y
= m(|+—)
100,
= m(lOi]
50,
J
- ()
50,
= 60000x 2 = 263,600
50
After 6 months Vasudevan would get amount ¥ 63,600.

(#)  Here, Principal (P) = 60,000,
Time (n) = 1year = 2 half-years (compounded half yearly)
Rate of interest (R) = 12% = 6% (compounded half yearly)

Amount (A) = p(n%)‘

= 60000x 233 267,416
5050

After 1 year Vasudevan would get amount 2 67,416.
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(i)  Here,
Principal (P) = 80,000, Time () = l% years, Rate of interest (R) = 10%

RY
Amount for 1 year (A) = p(nﬁ)
,
= mo(nﬂ)
100,
|
= Nm{l+l—]
10
\
= m(ﬂ)
10
=2 88,000
88000101

100x2
Total amount = ¥ 88,000 + 2 4,400 = 2 92,400

Interest for % year = =24,400

(i) Here, Principal (P)= 280,000,
Time (n) = 1% year = 3 half-years (compounded half yearly)
Rate of interest (R) = 10% = 5% (compounded half yearly)

Amount (&) = r(u%).

=292,610

Difference in amounts = 2 92,610 - 2 92,400 = 2 210
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(0] Here,
Principal (P) = 2 8000, Rate of Interest (R) = 5%, Time (1) = 2 years

Amount (A) = P(h%]‘

= mxﬂxﬁ =28820

(i) Here,
Principal (P) = 2 8000, Rate of Interest (R) = 5%, Time (n) = 3 years

Amount (A) = P (u.%))‘

21 21 21
= 8000x —x —x— =29,261
20 20

Interest for 3 year = A - P= 29,261 - 28,820 = ¥ 441
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Here,
Principal (P) =210000, Rate of Interest (R) = 10% = 5% (compounded half yearly)

Time () = 12 years = 3 half-years (compounded half yearly)

2

Amount(A) =P (h%].

2,202 1157625
0
Compound Interest (C.1) = A~ P = 1,576.25 - 10,000 = 1,576.25

Ifitis compounded annually, then
Here, Principal (P) = # 10000, Rate of Interest (R) = 10, Time (1) = |% years

RY
Amount (A) for 1 year = P (145]

« wouf1+ 22
-l
rowe(35)
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= 10000~ = 211,000
10

Total amount = 2 11,000 + 2 550 = 2 11,550
Now, Cl=A-P=?11550-710,000=21550

Yes, interest ? 1,576.25 is more than ? 1,550.
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Here, Principal (P) = 4096,
Rate of Interest (R) = 124 = 2
2 2

?5 (compounded half yearly)

Time (n) =18 months

Amount (A)

7

TATET
=74913
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@ Here, Azoos =54,000,R = 5%, n = 2 years
Population would be less in 2001 than 2003 in two years.
Here population is increasing.
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Aoz = Py, (HE]
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= 54000= Py, ["m]

A
= 54000= Py, [ﬂ]

20

21 21

= 54000 = By, xZox 0

o p. o 54000x20x20
=T a1

= Py, = 48,980 (approx.)
(i) According to question, population is increasing.
Therefore population in 2005,

Azoos

= 54000x 2L 2L - 59,535
20720

Hence population in 2005 would be 59,535.
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Here, Principal (P) = 5,06,000, Rate of Interest (R) = 2.5%, Time (#) =2 hours
After 2 hours, number of bacteria,

Amount(A) =P (n%).

53161625

Hence, number of bacteria after two hours are 531616 (approx).
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Here, Principal (P) = 7 42,000, Rate of Interest (R) = 8%, Time (n) = 1 years

Amount (4) 3 (I—%].

= 42000(1—3‘—
100,
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2
= 4200035 = 238,640

Hence, the value of scooter after one year is 2 38,640.
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Principal (P) = 2 10800, Time (n) =3 years,

Rate of interest () = 12%% =

Amount (A) = P (1 + %]'

,
. lmm(n -l )
2x100,

=715377.34

Compound Interest (C1) = A - P = 2 10800 - 215377.34 = 24,577.34
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Principal (P) = ¥ 18,000, Time (n) = z% years, Rate of interest (R) = 10% pa.
RY
smmc - {1+ 5]

5]

=221,780
21780x10x1
100

|nmugfnr%ywsou21,1enxrmeiwu:§ =21,089

‘Total amount for zé years=221,780 + 2 1089 = 2 22,869
Compound Interest (C1.) =A - P = 22869 - 7 18000 = 7 4,869
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Principal (P) = ¥ 62500, Time (1) = 17= % years = 3 half-years (compounded

half yearly)
Rate of interest (R) = 8% = 4% (compounded half yearly)

Amount (A) = P(u%]‘
» mm(:.ll%o)x - szsoo[un).
- mm(ﬁ)

= 62500 z“xEx“ 2270304
373

Compound Interest (C1) =A - P- 270304 - 2 62500 = 2 7,804
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Principal (P) = 2 8000, Time (n] half-years(compounded half
yearly)

Rate of interest (R) = 9% = ;x (compounded half yearly)

1 years

Amount (4) = P (1‘

=26,73620
Compound Interest (C1.) = A - P = 28736 20 - 2 8000 = ? 736.20
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Principal (P) = 7 10,000, Time (n) = 1 years = 2 half-years (compounded half

yearly)
Rate of interest (R) =8% = 4% (compounded half yearly)

Amount (A) = P (u%)-

=10000x 28,28 =7 10816
=73

=710816-210,000=27816

Compound Interest (C1) =




